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[ feven e AR T | (iii) In numerical questions, give all the steps
TS AT 1 1 SAEaE e & of calculation.
| m%m (iv) Give chemical equations wherever
necessary.
T A 15 R | ol : 35 : %m“ N .
: % 15 e vitariqt L w®w™ H, 9T T ¢ | wdl famew
A qu:;m ;ﬁ TR I 1 Fee-gfean # foflag
i V) @) et m e 1
- () YREE (i) VAW
(i) mmmgimm*mm (1ii) 'III_IH_P!_UI?IEI (iv) ﬂﬁli_:ilmm
S EmARimE | (@) =W A S My EE IR 1
i) Y % T () TR (i) A
i) wrafes 3o ferfla | (iii) Uehig (iv) eweufiv
(iii) TR WYL W AT % ' 92 it | () feft amed e e e .
(iv) g1 ATy g, wanfs wfw & | (i) 3l i gedt 2 |
(i) riafes sl agd )
315(GF) 1 (v-1) 5.7.0. (i) sl i g R |

(iv) Hiﬁﬂ?mffiﬁuﬁﬂg‘



, . (d) Which compound amongst the following
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Freezing point of a 5% solution (by weight)
of sugar in water is 271 kelvin. Determine
the freezing point of 5% solution of glucose

in water if the freezing point of pure water
is 273.15 kelvin.

Write short note on Sandmeyer's reaction.

differences  between
thermosetting plastic and thermo plastic
with one — one example of each.

Write two methods of preparation of
nitrobenzene,

3oz ¥ AT T FAA & Fram w wfonfa
Bifere e e et FAE

e § Feitws T $t ffty 7 wf
ot i | bR & R Tt
feftan |

et w Wtedars A Rie AL 2

m’mﬁwwﬁw

A 2

5 Y=1) P.T.0.

e

(¢)

@)

(@),

Define Raoult’s law of lowering vapour
pressure. Write its limitations.

Describe the method of preparation of
chloroform in laboratory giving diagram

and related chemical reactions.

«How will you differentiate between

formaldehyde and acetaldehyde ?

Differentiate between pnmary, secondary

and terhary dlcohol.
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(@) How will you differentiate between ethyl
alcohol and methy! alcohol by two tests and

also give related chemical reactions. 2 7. faafma.C T D %1 9, ¥id & il E‘ﬁ
(b)  Wiite down short note on the following méﬂnmmﬁ-ﬁml

important  rcactions by giving related

chemical equations. 2(141) Y

(i) Williamson synthesis.

(i)  Reimer-Tiemann reaction. fratefga w afta feoft ferfa -

{¢) (1) What is urotropine ? Write chemical (i) D.N.A.
reaction of its formation. 2(141)
(1) How is mesitylene obtained ? Write (n) g
its chemical reaction. H—
(d) Write short notes on : 2(1+1) ()
()  Heat of Combustion . Wnite the names, source and the diseases caused
(i) Hess's Law due to the deficiency of vitamin A, C & D.
OR
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What is oligosaccharides ? Wnite two chemical -
properties of any one oligosaccharide. 3
OR

How will you obtain Glucosazone, Gluconic acid
and Sorbitol from Glucose ? 3



